

**SOME RESULTS ON CERTAIN SUBCLASS OF MEROMORPHIC  
FUNCTIONS ASSOCIATED WITH  $(p, q)$ -DERIVATIVE**

**P. Nandini, M. Ruby Salestina\* and S. Latha\***

Department of Mathematics,  
JSS Academy of Technical Education,  
Srinivaspura, Bengaluru - 560060, INDIA

E-mail : pnandinimaths@gmail.com

\*Department of Mathematics,  
Yuvaraja's College, University of Mysore, Mysore - 570005, INDIA

E-mail : ruby.salestina@gmail.com, drlatha@gmail.com

(Received: Jan. 16, 2021 Accepted: May 08, 2021 Published: Aug. 30, 2021)

**Abstract:** In the present work, we define a new subclass of meromorphic functions by using newly defined  $(p, q)$ -differential operator and some geometrical properties such as Sufficiency criteria, coefficient estimates, distortion bounds, radius of star-likeness, radius of convexity and partial sums are discussed for these subclass.

**Keywords and Phrases:** Regular and Meromorphic functions, Ruscheweyh and Salagean derivative, Janowski function and  $(p, q)$ -differential operator.

**2020 Mathematics Subject Classification:** 30C45, 30C50.

## 1. Introduction

Let  $\mathcal{C}$  be a complex plane and  $\mathcal{M}$  denote the collection of all meromorphic functions  $f$  of the form

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n, \quad z \in \mathcal{D}^* \quad (1.1)$$

which are regular in punctured open unit disc  $\mathcal{D}^* = \mathcal{D}/\{0\} = \{z \in \mathcal{C} : 0 < |z| < 1\}$ .

Also let  $\mathcal{MS}^*(\beta)$  and  $\mathcal{MC}(\beta)$  denote the well known families of meromorphic starlike and meromorphic convex functions of order  $\beta$  ( $0 \leq \beta < 1$ ) respectively.

We first recall some basic notations and definitions which are used to prove our main result.

**Definition 1.1.** (*Convolution*) [1] The convolution or Hadamard product of any two meromorphic functions  $f$  and  $g$  of the form (1.1), that are regular in  $\mathcal{D}^*$  is given by

$$f(z) * g(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n b_n z^n, \quad z \in \mathcal{D}^*.$$

**Definition 1.2.** (*Subordination*) [6] For any two regular functions  $f$  and  $g$  in  $\mathcal{D}$ , we say that  $f$  is subordinate to  $g$  in  $\mathcal{D}$ , i.e  $f \prec g$ , if there exists a Schwarz function  $w(z)$ , wick is regular in  $\mathcal{D}$  with  $w(0) = 1$  and  $|w(z)| < 1$  such that  $f(z) = g(w(z))$ ,  $z \in \mathcal{D}$ .

**Definition 1.3.** [6] For a non negative integer  $n$  and  $0 < q < p \leq 1$ , the  $(p, q)$ -integer number  $[n]_{p,q}$  is defined as

$$[n]_{p,q} = \frac{p^n - q^n}{p - q}$$

and  $(p, q)$ -number shift factorial is given by

$$[n]_{p,q}! = \begin{cases} [n]_{p,q}[n-1]_{p,q} \cdots [2]_{p,q}[1]_{p,q}, & \text{if } n \geq 1 \\ 1 & \text{if } n = 0 \end{cases}.$$

**Definition 1.4.** [6] The  $(p, q)$ -analogue of Jackson derivative of the function  $f$  is given by

$$D_{p,q}(f(z)) = \frac{f(pz) - f(qz)}{(p-q)z}, \quad z \neq 0, p \neq q \quad 0 < q < 1 \quad (1.2)$$

Thus, the  $(p, q)$ - derivative of the function  $f \in \mathcal{M}$  of the form (1.1) is given by

$$D_{p,q}(f(z)) = -\frac{1}{pqz^2} + \sum_{n=1}^{\infty} [n]_{p,q} a_n z^{n-1},$$

In the present work , we use a new differential operator  $\mathcal{L}_{p,q}^{\delta,m} f(z)$  introduced by Nandini and Latha [5] as

$$\mathcal{L}_{p,q}^{\delta,m} f(z) = \mathcal{R}_{p,q}^{\delta} f(z) * \mu_{p,q}^m f(z) = \frac{(-1)^m}{z} + \sum_{n=1}^{\infty} \frac{p^m q^m [n]_{p,q}^m [\delta + n + 1]_{p,q}!}{[\delta]_{p,q}! [n + 1]_{p,q}!} a_n z^n, \quad (1.3)$$

$$\delta, m \in \mathcal{NU}\{0\}, \quad 0 < q < 1 \text{ and } p \neq q$$

$$= \frac{(-1)^m}{z} + \sum_{n=1}^{\infty} \psi_n a_n z^n$$

Where  $\psi_n = \frac{p^m q^m [n]_{p,q}^m [\delta + n + 1]_{p,q}!}{[\delta]_{p,q}! [n + 1]_{p,q}!}$ ,  $\mathcal{R}_{p,q}^\delta$  be the  $(p, q)$ -Ruschweyh derivative operator and is given by [1]

$$\mathcal{R}_{p,q}^\delta(f(z)) = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{[\delta + n + 1]_{p,q}!}{[\delta]_{p,q}! [n + 1]_{p,q}!} a_n z^n, \quad \delta \in \mathcal{N}$$

and  $\mu_{p,q}^m f(z)$  is given by

$$\mu_{p,q}^m f(z) = p^m q^m z D_{p,q}(\mathcal{S}_{p,q}^{m-1} f(z)) = \frac{(-1)^m}{z} + \sum_{n=1}^{\infty} p^m q^m [n]_{p,q}^m a_n z^n, \quad (m \in \mathcal{N}),$$

where  $\mathcal{S}_{p,q}^{m-1}$  denote the  $(p, q)$ -Salagean differential operator [6] and is given by

$$\mathcal{S}_{p,q}^{m-1} f(z) = \frac{(-1)^{m-1}}{p^{m-1} q^{m-1} z} + \sum_{n=1}^{\infty} [n]_{p,q}^{m-1} a_n z^n.$$

Now we define a subfamily  $\mathcal{MC}_{p,q}(A, B, \delta, m)$  of  $\mathcal{M}$  by using the operator  $\mathcal{L}_{p,q}^{\delta,m}$  as follows.

**Definition 1.5.** Let  $-1 \leq B < A \leq 1$ ,  $\delta, m \in \mathcal{N} \cup \{0\}$  and  $0 < q < p \leq 1$ . Then a function  $f \in \mathcal{M}$  as in (1.1) is said to be in the class  $\mathcal{MC}_{p,q}(A, B, \delta, m)$  if it obeys the condition

$$\frac{-pq D_{p,q}(z D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z)))}{D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))} \prec \frac{1 + Az}{1 + Bz} \quad (1.4)$$

Equivalently, a function  $f \in \mathcal{M}$  is said to belongs to the class  $\mathcal{MC}_{p,q}(A, B, \delta, m)$  if and only if

$$\left| \frac{pq D_{p,q}(z D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))) + D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))}{A(D_{p,q} \mathcal{L}_{p,q}^{\delta,m} f(z)) + B(pq D_{p,q}(z D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))))} \right| < 1 \quad (1.5)$$

## 2. The Main Results and Their Consequences

**Theorem 2.1.** *Let  $f \in \mathcal{M}$  be given by (1.1) and obeys the inequality*

$$\sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A)) \psi_n |a_n| \leq A - B. \quad (2.1)$$

*Then  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ .*

**Proof.** To prove that  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ , it is enough to show that

$$\left| \frac{pqD_{p,q}(zD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))) + D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))}{AD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z)) + BpqD_{p,q}(zD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z)))} \right| < 1$$

consider

$$\begin{aligned} & \left| \frac{pqD_{p,q}(zD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))) + D_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z))}{AD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z)) + BpqD_{p,q}(zD_{p,q}(\mathcal{L}_{p,q}^{\delta,m} f(z)))} \right| \\ &= \left| \frac{pq \left[ \frac{(-1)^m}{p^2 q^2 z^2} + \sum_{n=1}^{\infty} [n]_{p,q}^2 \psi_n a_n z^{n-1} \right] + \frac{(-1)^{m+1}}{pq z^2} + \sum_{n=1}^{\infty} [n]_{p,q} \psi_n a_n z^{n-1}}{A \left[ \frac{(-1)^{m+1}}{pq z^2} + \sum_{n=1}^{\infty} [n]_{p,q} \psi_n a_n z^{n-1} \right] + Bpq \left[ \frac{(-1)^m}{p^2 q^2 z^2} + \sum_{n=1}^{\infty} [n]_{p,q}^2 \psi_n a_n z^{n-1} \right]} \right| \\ &= \left| \frac{\sum_{n=1}^{\infty} (pq[n]_{p,q} + 1) [n]_{p,q} \psi_n a_n z^{n-1}}{\frac{-(A-B)}{pq z^2} (-1)^m + \sum_{n=1}^{\infty} (A + Bpq[n]_{p,q}) [n]_{p,q} \psi_n a_n z^{n-1}} \right| \\ &\leq \frac{pq[n]_{p,q} (pq[n]_{p,q} + 1) \psi_n |a_n|}{(A-B) - \sum_{n=1}^{\infty} pq[n]_{p,q} (A + Bpq[n]_{p,q}) \psi_n |a_n|} < 1, \quad \text{by (2.1)} \end{aligned}$$

which completes the proof.

**Theorem 2.2.** *Let  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$  and has the form (1.1). Then for  $|z| = r$*

$$\frac{1}{r} - rr_1 \leq |f(z)| \leq \frac{1}{r} + rr_1$$

where  $r_1 = \frac{[2]_{p,q}!(A-B)}{p^{m+1}q^{m+1}[\delta+1]_{p,q}[\delta+2]_{p,q}(pq(1+B)+(1+A))}$ .

**Proof.** Consider

$$\begin{aligned} f(z) &= \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n \\ |f(z)| &= \left| \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n \right| \\ &\leq \frac{1}{|z|} + \sum_{n=1}^{\infty} |a_n| |z|^n \\ &= \frac{1}{r} + \sum_{n=1}^{\infty} |a_n| r^n \end{aligned}$$

since  $|z| = r < 1$  we have  $r^n < r$

$$|f(z)| \leq \frac{1}{r} + r \sum_{n=1}^{\infty} |a_n| \quad (2.2)$$

similarly

$$|f(z)| \geq \frac{1}{r} - r \sum_{n=1}^{\infty} |a_n| \quad (2.3)$$

from(2.1), we have

$$\sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A)) \psi_n |a_n| \leq A - B.$$

But

$$\begin{aligned} &\frac{p^{m+1}q^{m+1}[\delta+2]_{p,q}!}{[\delta]_{p,q}![2]_{p,q}!} [pq(1+B) + (1+A)] \sum_{n=1}^{\infty} |a_n| \\ &\leq \sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A)) \psi_n |a_n| \leq A - B. \end{aligned}$$

thus

$$\frac{p^{m+1}q^{m+1}[\delta+2]_{p,q}!}{[\delta]_{p,q}![2]_{p,q}!} [pq(1+B) + (1+A)] \sum_{n=1}^{\infty} |a_n| \leq A - B$$

therefore

$$\sum_{n=1}^{\infty} |a_n| \leq \frac{[2]_{p,q}!(A-B)}{p^{m+1}q^{m+1}[\delta+1]_{p,q}[\delta+2]_{p,q}(pq(1+B) + (1+A))}.$$

So, we get the required result by substituting this in (2.2) and (2.3).

**Theorem 2.3.** *If  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$  and has the form (1.1). Then for  $|z| = r$*

$$\frac{[\lambda]_{p,q}!}{(pq)^{\gamma}r^{\lambda+1}} - rr_2 \leq |D_{p,q}^{\lambda}f(z)| \leq \frac{[\lambda]_{p,q}!}{(pq)^{\gamma}r^{\lambda+1}} + rr_2$$

where

$$r_2 = \frac{(A-B)}{p^{m+1}q^{m+1}(pq(1+B) + (1+A))} \quad \text{and} \quad \gamma = \sum_{j=1}^{\lambda} j.$$

**Proof.** On application of (1.2) to the equation (1.1), we get

$$D_{p,q}^{\lambda}f(z) = \frac{(-1)^{\lambda}[\lambda]_{p,q}!}{(pq)^{\gamma}z^{\lambda+1}} + \sum_{n=1}^{\infty} \frac{[n]_{p,q}!}{[n-\lambda]_{p,q}!} a_n z^{n-\lambda}, \quad \text{where} \quad \gamma = \sum_{j=1}^{\lambda} j.$$

Since  $|z| = r < 1$ , we have  $r^{n-\lambda} < r$  for  $\lambda \leq n$ . Thus

$$|D_{p,q}^{\lambda}f(z)| \leq \frac{[\lambda]_{p,q}!}{(pq)^{\gamma}r^{\lambda+1}} + r \sum_{n=1}^{\infty} \frac{[n]_{p,q}!}{[n-\lambda]_{p,q}!} |a_n| \quad (2.4)$$

and similarly

$$|D_{p,q}^{\lambda}f(z)| \geq \frac{[\lambda]_{p,q}!}{(pq)^{\gamma}r^{\lambda+1}} - r \sum_{n=1}^{\infty} \frac{[n]_{p,q}!}{[n-\lambda]_{p,q}!} |a_n| \quad (2.5)$$

from theorem (2.1), we have

$$\begin{aligned} & pq(pq(1+B) + (1+A)) \sum_{n=1}^{\infty} \psi_n |a_n| \\ & \leq \sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A)) \psi_n |a_n| \leq A-B \end{aligned}$$

Therefore

$$\sum_{n=1}^{\infty} \psi_n |a_n| \leq \frac{A-B}{pq(pq(1+B) + (1+A))},$$

but certainly

$$\sum_{n=1}^{\infty} \frac{[n]_{p,q}!}{[n-\lambda]_{p,q}!} |a_n| \leq \frac{1}{p^m q^m} \sum_{n=1}^{\infty} \psi_n |a_n|,$$

which implies that

$$\sum_{n=1}^{\infty} \frac{[n]_{p,q}!}{[n-\lambda]_{p,q}!} |a_n| \leq \frac{A-B}{p^{m+1} q^{m+1} (pq(1+B) + (1+A))}.$$

Finally, using this in (2.4) and (2.5), we get the required result.

**Theorem 2.4.** *Let  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ . Then  $f \in \mathcal{MC}(\beta)$  for  $|z| < r^*$ , where*

$$r^* = \left( \frac{(1-\beta)[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{n(n+\beta)(A-B)} \psi_n \right)^{\frac{1}{n+1}}$$

**Proof.** We know that  $f$  is meromorphically convex of order  $\beta$  if it obeys the inequality

$$-\Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \beta$$

or equivalently

$$\left| \frac{2f'(z) + zf''(z)}{zf''(z) + 2\beta f'(z)} \right| \leq 1.$$

Using (1.1) along with simple computation yields,

$$\sum_{n=1}^{\infty} \frac{n(n+\beta)}{(1-\beta)} |a_n| |z|^{n+1} \leq 1. \quad (2.6)$$

from (2.1) we have

$$\frac{\sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A))}{A-B} \psi_n |a_n| < 1$$

thus, the inequality (2.6) will be true if

$$\sum_{n=1}^{\infty} \frac{n(n+\beta)}{1-\beta} |a_n| |z|^{n+1} < \frac{\sum_{n=1}^{\infty} pq[n]_{p,q} (pq[n]_{p,q}(1+B) + (1+A))}{A-B} \psi_n |a_n|,$$

which implies that

$$|z|^{n+1} < \frac{(1-\beta)pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{n(n+\beta)(A-B)}\psi_n$$

therefore,

$$|z| < \left( \frac{(1-\beta)pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{n(n+\beta)(A-B)}\psi_n \right)^{\frac{1}{n+1}}$$

which completes the proof.

**Theorem 2.5.** Let  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ . Then  $f \in \mathcal{MS}^*(\beta)$  for  $|z| < r^{**}$ , where

$$r^{**} = \left( \frac{(1-\beta)pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{(n+1+B)(A-B)} \right)^{\frac{1}{n+1}}.$$

**Proof.** Let  $f \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ . To prove that  $f \in \mathcal{MS}^*(\beta)$ , we need to prove that

$$\Re \left\{ \frac{-zf'(z)}{f(z)} \right\} > \beta$$

or equivalently

$$\left| \frac{zf'(z) + f(z)}{zf'(z) - (1-2\beta)f(z)} \right| \leq 1$$

using (1.1) and simplification yields

$$\sum_{n=1}^{\infty} \frac{(n+1+\beta)}{(1-\beta)} |a_n| |z|^{n+1} \leq 1. \quad (2.7)$$

From (2.1), we have

$$\sum_{n=1}^{\infty} \frac{pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{A-B} \psi_n |a_n| < 1.$$

Thus (2.7) will be true only if

$$\sum_{n=1}^{\infty} \frac{(n+1+\beta)}{(1-\beta)} |a_n| |z|^{n+1} < \sum_{n=1}^{\infty} \frac{pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{A-B} \psi_n |a_n| < 1.$$

Therefore

$$|z|^{n+1} < \frac{(1-\beta)pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{(n+1+\beta)(A-B)}\psi_n$$



Hence

$$|z| < \left( \frac{(1-\beta)pq[n]_{p,q}(pq[n]_{p,q}(1+B) + (1+A))}{(n+1+\beta)(A-B)} \psi_n \right)^{\frac{1}{n+1}} = r^{**}.$$

The proof is completed.

The partial sum for  $f(z) \in \mathcal{MC}_{p,q}(A, B, \delta, m)$  is discussed in the following theorem.

Let

$$g(z) = \mathcal{L}_{p,q}^{\delta,m} f(z) = \frac{(-1)^m}{z} + \sum_{n=1}^{\infty} \psi_n a_n z^n$$

and its sequence of partial sum is given by

$$g_k(z) = \frac{(-1)^m}{z} + \sum_{n=1}^k \psi_n a_n z^n$$

we obtain the lower bound for the ratio of real part

$$\Re \left( \frac{g(z)}{g_k(z)} \right), \Re \left( \frac{g_k(z)}{g(z)} \right), \Re \left( \frac{D_{p,q}(g(z))}{D_{p,q}(g_k(z))} \right) \text{ and } \Re \left( \frac{D_{p,q}(g_k(z))}{D_{p,q}(g(z))} \right).$$

**Theorem 2.6.** *If  $g(z) \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ , then  $\forall z \in \mathcal{D}$*

$$\Re \left( \frac{g(z)}{g_k(z)} \right) \geq 1 - \frac{1}{\xi_{k+1}} \quad (2.8)$$

and

$$\Re \left( \frac{g_k(z)}{g(z)} \right) \geq \frac{\xi_{k+1}}{1 + \xi_{k+1}} \quad (2.9)$$

where  $\xi_k = \frac{pq[k]_{p,q}(pq[k]_{p,q}(1+B) + (1+A))}{A-B}$ .

**Proof.** For (2.8), consider

$$\begin{aligned} & \xi_{k+1} \left( \frac{g(z)}{g_k(z)} - \left( 1 - \frac{1}{\xi_{k+1}} \right) \right) \\ &= \frac{(-1)^m + \sum_{n=1}^k \psi_n a_n z^{n+1} + \xi_{k+1} \left( \sum_{n=k+1}^{\infty} \psi_n a_n z^{n+1} \right)}{(-1)^m + \sum_{n=1}^k \psi_n a_n z^{n+1}} \end{aligned}$$

$$= \frac{(-1)^m + u_1(z)}{(-1)^m + u_2(z)}$$

if we put

$$\frac{(-1)^m + u_1(z)}{(-1)^m + u_2(z)} = \frac{(-1)^m + v(z)}{(-1)^m - v(z)}$$

then

$$v(z) = \frac{(-1)^m(u_1(z) - u_2(z))}{2(-1)^m + u_1(z) + u_2(z)}$$

$$|v(z)| \leq \frac{\xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n |a_n|}{2 - 2 \sum_{n=1}^k \psi_n |a_n| - \xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n |a_n|}$$

$$|v(z)| \leq 1 \iff 2\xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n |a_n| \leq 2 - 2 \sum_{n=1}^k \psi_n |a_n|$$

$$\left[ \sum_{n=1}^k \psi_n |a_n| + \xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n |a_n| \right] \leq 1$$

to obtain (2.8), it is enough to prove that the left hand side of this expression is

bounded above by  $\sum_{n=1}^{\infty} \xi_n \psi_n |a_n|$

that is,

$$\sum_{n=1}^k (1 - \xi_n) \psi_n |a_n| + \sum_{n=k+1}^{\infty} (\xi_{k+1} - \xi_n) \psi_n |a_n| \geq 0.$$

To prove (2.9), consider

$$(1 + \xi_{k+1}) \left[ \frac{g_k(z)}{g(z)} - \frac{\xi_{k+1}}{1 + \xi_{k+1}} \right]$$

$$= \frac{(-1)^m + \sum_{n=1}^k \psi_n a_n z^{n+1} - \xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n a_n z^{n+1}}{(-1)^m + \sum_{n=1}^{\infty} \psi_n a_n z^{n+1}}$$

$$\begin{aligned}
&= \frac{(-1)^m + v(z)}{(-1)^m - v(z)} \\
|v(z)| &\leq \frac{(1 + \xi_{k+1}) \sum_{n=k+1}^{\infty} \psi_n |a_n|}{2 - 2 \sum_{n=1}^k \psi_n |a_n| - (\xi_{k+1} - 1) \sum_{n=k+1}^{\infty} \psi_n |a_n|} \leq 1
\end{aligned}$$

if and only if

$$\sum_{n=1}^k \psi_n |a_n| + \xi_{k+1} \sum_{n=k+1}^{\infty} \psi_n |a_n| \leq 1$$

to prove (2.9), it is enough to prove that the left hand side of this expression is bounded by  $\sum_{n=1}^{\infty} \xi_n \psi_n |a_n|$ . that is,

$$\sum_{n=1}^k (1 - \xi_n) \psi_n |a_n| + \sum_{n=k+1}^{\infty} (\xi_{k+1} - \xi_n) \psi_n |a_n| \geq 0.$$

**Theorem 2.7.** If  $g(z) \in \mathcal{MC}_{p,q}(A, B, \delta, m)$ , then  $\forall z \in \mathcal{D}$

$$\Re \left( \frac{D_{p,q} g(z)}{D_{p,q} g_k(z)} \right) \geq 1 - \frac{[k+1]_{p,q}}{\xi_{k+1}} \quad (2.10)$$

and

$$\Re \left( \frac{D_{p,q} g_k(z)}{D_{p,q} g(z)} \right) \geq \frac{\xi_{k+1}}{\xi_{k+1} + [k+1]_{p,q}} \quad (2.11)$$

where  $\xi_k = \frac{pq[k]_{p,q} (pq[k]_{p,q} (1+B) + (1+A))}{A-B}$ .

**Proof.** The proof is similar to the previous theorem.

## References

- [1] Alsoboh Abdullah and Darus Maslina, Certain subclass of Meromorphic Functions involving q-Ruschweyh differential operator, Transylvanian Journal of Mathematics and Mechanics, 11 No.1-2 (2019), 01-08.
- [2] Ahmad Bakhtiar and Muhammad Arif, New subfamily of meromorphic convex functions in circular domain, International Journal of Analysis and Applications, V-16, N-1 (2018), 75-82.

- [3] Bansal Deepak and Orhan Halit, Partial sums of Mittag-leffler function, Journal of Mathematical inequalities, V-12, N-2 (2018), 423-431.
- [4] Cho Nak Eun and Owa Shigeyoshi, Partial sums of certain meromorphic functions, Journal of Inequalities in Pure and Applied Mathematics, V-5, I-2, (2004).
- [5] Nandini P. and Latha S., A note on meromorphic function associated with  $(p, q)$ -Ruscheweyh derivative, communicated for publication.
- [6] Nandini P. and Latha S., On a class of Harmonic univalent functions associated with  $(p, q)$ -salagean derivative, GIS Science Journal, V-7, I-9 (2020), 753-769.
- [7] Njionou Sadjang P., On the fundamental theorem of  $(p, q)$ -calculus and some  $(p, q)$ -Taylor formulas, Results in Mathematics, 73(1) (2013).
- [8] Mahmood Shahid, Zahoor Qazi, Srivastava H. M., Khan Nazar, Khan Bilal and Tahir Muhammad, A certain subclass of meromorphically  $q$ -starlike functions associated with the Janowski functions, Journal of Inequalities and Applications, (2019).